
 

  
 
 

PART No. SET4 
 

SetScrew M6 x 16 
 

Quantity: 30 
 

Assorted Box No: AT99 

 
 
 

PART No. SET7 
 

SetScrew M6 x 40 
 

Quantity: 20 
 

 
 
 

PART No. SET5 
 

SetScrew M6 x 20 
 

Quantity: 30 
 

 
 
 

PART No. SET9 
 

SetScrew M6 x 50 
 

Quantity: 20 
 

 
 
 

PART No. SET6 
 

SetScrew M6 x 25 
 

Quantity: 40 
 

 
 
 

PART No. FW11 
 

Flat Washer 6mm 
 

Quantity: 160 
 

 
 
 

PART No. NUT2 
 

Steel Nut 6mm 
 

Quantity: 160 
 

 
 
 

PART No. SET23 
 

SetScrew M6 x 30 
 

Quantity: 20 
 

Customer: Beal (UK) Ltd. 

  

M6 SetScrews/Nuts/Washers  

Front Label 

Content: 480 

Box Colour: CLEAR 
 


